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njkel shAfo] HA 9] 50% < ), A, B
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TR ot 7|50] 1

o] gt& 7+t Htoti?

EIEY St & (%)
121~ 147 5
1477~ 16" 8
167% ~ 18" A
18T% ~ 20" B
20°% ~ 22" 9
A 40

® A=3,B=9 @ A=3, B=10 ® A=7 B=10
@Az?,lel ® A=9, B=11

71E0] 18 Z 1Rl oY = 40 x — = 20(%8)

9+8+A=20 .. A
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@ 174 @ 271 @3711 @ 470 ® 57

CF, EF, DF




227 (kg) SHAl4
35°1% ~ 40" 4
401 ~ 45" A
457 ~ 50" | 15
50°% ~ 557H 13
55°% ~ 60" 8
60°1% ~ 657 3
A 50
@© 47.2kg 2)49.8kg ® 51.3kg
@ 53.1kg ® 56.0kg

~&B

A=50-(4+154+134+8+3)="7
(3)

50
62.5 x 3
50
2490
T 50

50 50

= 49.8 (kg)

37.5x4 425x7 47.5x15
aF 4F 4F

52.5 X 13 . 97.5 X8 i
50 50
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